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EAl 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 7|AMQA
e |G [TEES| B | US| W2 | M2 | He | HE |[TSuS|olsMH
2431 -30 49 2.1 69 49 57 47 55 39 |[HAIR
08/-60 | 0.7/-52 | 97/20 |23/-62 [104/3.1] 92/02 | 105/2.7|106/00| 93/1.2 [10.6/-0.1| %] 1/A[X
S |G [FEHS| HE | US| H2 | HE | WS | WS |[ENZ|ol=MEH
M) 39 | -38 28 31 48 20 42 48 47 22 |H@IlR
-06/-64 |-05/-57| 92/-24 | 1.9/-64 |105/-18| 67/-06 | 92/0.1 | 91/06 | 7.3/05 | 84/-24 |X|1/%|H
NS | LS [TEHS| HS | US| HES | HE | NS | HS |[TELZ| =M
BA 28 | -24 26 27 | 57 32 33 35 47 05 |Ha7|e
13/-60 | 15/-47 | 59/-12 | 1.7/-64(11.3/-03| 64/05 | 7.9/-03 | 87/-09 | 84/03 | 48/-39 |X|1/Z|X
[s[X=) oLto 2010 | Ol [a[1=] [a[Xe] '5|.=M-EH
210 210 [=1k-=] 210 R =] =] =20
sH| 21 18 29 15 | 77 44 5.2 39 54 29 |Ha@IR
1.0/-52 | 26/-5.1 | 83/-09 | 24/-54 | 99/46 |10.1/08 |106/09|9.0/-1.1 | 86/1.7 | 63/-07 |X|D/A|H
[=[X=] otoe. 2010 gto [=[1=] oo '6'|,=M-EH
S l=] =] [ kofm=] =g =] = =] 210 =20
A= 35 | 37 | 12 | 46 | 18 04 2.1 03 37 | 12 | Ha@e
-07/-73103/-83 | 68/-89 |22/-103/106/-6.1| 5.9/-49 | 91/-3.6 | 99/-7.0 | 7.8/-08 | 83/-84 |X|1/%|X
aroe 2019 20O aroe. aroe. oroe. '6'|.hAI-EH
= l=] [=] k=] (=] k=] =g =] = =] 210 =20
e 64 | -61 32 | 46 | 38 | 13 ] 02 | 09 | 20 | -35 |H@7R
-34/-106/-2.1/-95|52/-112|-05/-96| 83/-4 | 20/-56 | 64/-47 | 79/-7.6 | 54/-3.6 |80/-12.4| X| 1/%|H
X2 10492t €2 ME0I(1.1) ZM
EAl 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 7[Mei
oo oo oo [s[XS] [s[XS) oo oo oo o+t [s[XS] '5|.=MEH
=g =] =g =] = =] =g =] = =] 210 210 = =] 210 =g =] =20
2840 16 | 11 26 26 73 | 22 | 53 6.5 27 10 |Ha7|2
43/-67 | 41/-58 | 79/-18 | 80/-28 | 99/49 | 1.2/-49 |109/1.1|126/22 | 74/-1.1 | 55/-19 |X|1/Z|X
aroe oro aroe. oro oro oroe oroe aro ] 1=} 20O '6|.=AI-EH
=g l=] =g =] = l=] =g =] = =] 210 210 = l=] =g =] Oles =20
st 17 | 14 | 26 03 60 | 27 | 40 6.5 2.1 01 |Ha7|2
40/-66 |37/-78 | 80/-23 | 67/-73 | 11.0/09 | 04/-49 |12.0/-16/ 11.8/2.1 | 62/-04 | 41/-25 |X|1/%|X
o+t oo oo [s[X=] ot oo ot oo ot [s[X=] 6‘|#M‘EH
=R l=] =g =] =al=] =g =] =g =] 210 210 =al=] 210 =g =] =X]
BH 21 10 24 12 73 | 17 | 25 47 18 00 |Ha7|=
29/-80 |40/-61 | 82/-16 | 7.3/-48 | 113/3.7| 13/-44 | 79/-20 |10.7/-0.1| 55/-19 | 5.1/-30 | X| 2/%| K
oro oro 2019 [a]X=} [a]X=} oro '5|.=AI-EH
=g =] =g =] [=] ko] 210 = =] 210 =20
S8 -14 03 24 23 78 | -14 | 44 57 33 15 | Ha7|2
40/-65 | 49/-36 | 7.5/-08 | 68/-28|108/5.1|2.1/-39 | 88/-08 | 11.1/1.0| 82/0.1 | 62/-20 |X1/Z|X
ore oLe ore gre ore oke oAl
S l=] =g =] =] =a =] = l=] 210 =20
=l 48 | 08 | 02 | 23 | 31 31 | -01 16 09 | -13 |Hz@7|2
34/-115/39/-84 | 65/-60 [50/-10.2|104/-49| 09/-81 | 87/-67 |11.3/-45| 7.7/-55 | 6.3/-7.6 | X 11/%|]
s | Sig [FERS] sE | dEg | e ol MEl
HE 53 | 47 | 14 | 53 | 49 | 54 | -11 08 | -05 | -32 |H@Ie
25/-114|08/-11.3] 43/-65 |08/-10.7| 7.9/09 |-1.8/-84|83/-82 |104/-63| 49/-5.7 |2.8/-10.2| %] 11 /%[
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